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¥ | BEA T—HE il BR#THK "E
1 K% XFF| 50 xX=F
2 AYhiie XF5 50 X=F
3 a1l YES/NO -1(58%). 0(ZxH)
4 H$4£AH =g gt 51:1980/10/31
5 #HEI—R X3 10 X%
6 EBFIO—KR XFF| 50 x=F
7 EILE XF5 50 X%
8 Ha—k XFF| 50 =
9 B2 XFF| 50 =
10 BN XF5 50 X=
11 diga XFF| 50 =
12 REBXS INAREY 255 X% 1(FE8) . 2(4RE) . 3GERHE)
13 AftH =EDED] 51:2014/04/01
14 EBEE SRR f51:2021,/03/31
15 &% AERY 65,5635 X5
16 BikEE AER 65,535 X
17 BEES X 10 X
18 AT XF5 100 x5
19 {E7T 2 X3 100 x¢=¢
20 BEES XF5 20 X
21 FAX &5 XFF| 20 XF
22 EHEEES XF5 20 X
23 A—JLFRLR AER 65,535 X =
24 RAFLERITO—R XF5 50 X=
25 A SFCRITEHT XFF| 50 X=F
26 RAFLERITA XF5 50 X=
27 A G X IET—R XF5 50 x=
28 AL IELHT XFF| 50 X=F
29 RAFLRITRIER XF5 50 X=
30 EeiEE REHR 1(E&). 2(4 ), 3(frE)
31 OEES XF5 20 X=F
32 ESE YES/NO TRUE(ZE1E). FALSE(JER B)
33 OE£E XF5 50 X
34 OERE YN XF5 50 X=
35 HEADERE YES/NO TRUE(#% &), FALSE(JE%R8)
36 N - 1(A#). 2(B#).
BEHR NARE 253 | ot AR
37 HERAHK BER
38 AR BmER
39 EENBE BER
40 ERG BER
41 HEHERE BER
42 ARG BER
43 FEBEE BER
44 ERRBE BER
45 AEIXBE BER
46 BEEE B IR IRELE BER
47 SHEAE YES/NO TRUE(ZI¥#82R), FALSE (B 1)
48 TR K BER
49 R REREE BER
50 KB HE 1 ER BER
51 =R R BER




% | BEA T—5H il BRAT 5K ik
52 RBRE 1 FRERER BER
53 YRR BER
54 B HEIER BER
55 EREEEK BER
56 RH HE 2 BiEE BER
57 KRB 2 g% BER
58 RBEREIERE 2 BEX BER
59 40-60 FrfERERHEER BER
60 60 FfEl ik B K BER
61 i BER
62 RRLEEM BER
63 REHE) 1 Bl BER
64 RBEFRZE 1 B BER
65 RBERRILE 1 Bl BER
66 YRR BER
67 B BER
68 3E R B BER
69 KB gD 2 Bl BER
70 KRBT 2 Bl BER
71 KRB RRIERE 2 Bl BER
12 40-60 Ry B BER
73 60 IR B BER
74 BIREHR REHD
75 BREERS 3P 50 XF
16 NERRE2SWRRE YES/NO TRUE(x4R). FALSE(ZExt%R)
77 BEER REHD
78 EEEERREILES 3P 50 XF
79 EEFSEGHS BER
80 EENHES BER
81 ERRR YES/NO TRUE(x#4R). FALSE(ZExt%R)
82 ERRIRH 3P 10 XX ACA#). B(B #D
83 ERARKRERE YES/NO TRUE(#BR). FALSE(GE#ER)
84 ERRBRBERIEREERS &2l 20 XXF
85 FHRRBRNERE YES/NO TRUE(H£). FALSE(GEx%)
86 IEHES INARE 255 X7 TCR#D. 2(Z#)
87 FHRKRRE D INARE 255 X = T(ER). 2% &), 3(ERE)
88 HRRBEH DR YES/NO TRUE(#:ER). FALSE(ZERER)
89 B 5 RS ER & ATa—N &2l 10 X
90 BEXHREERHERTA 3P 100 XX
91 KEHK INARE 255 X7
92 FERBI(6 D) BER
93 FERF(T AL BER
94 FERBMAEE INARE 255 X=F 0(E BRI 1 RRIBD
95 ®EgTa—k 3P 10 XX
96 BTfEEES &2l 10 X
97 BETATF 3P 100 XX
98 BEESS &2l 10 XX
99 BETERT 3P 100 XX
100 | ®RITEEES &2l 20 XX F
101 BATiEE AEH 65,535 XF
102 | EI2EBOELHE AER 65,635 X=F
103 | BREBOER &2l 10 X
104 | REEEHR AER 65,635 XF
105 B AEH 65,535 XX F




